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A block of wood and a block of iron on
weighing scales each weigh 1 ton. Strictly
speaking, which has the greater mass?

@ke buovyancy of air into accou@
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A block of wood and a block of iron on
weighing scales each weigh 1 ton. Strictly

;_% speaking. which has the greater mass?

{ Answer:
The wood has the greater mass. Why? Because the scale reading
is weight minus the buoyant force of the surrounding air. The
wood has a greater volume.
displaces more air, and therefore| How much greater's
has a greater buoyant force. By an amount that equals
To yield the same scale reading ;he differir;]ce in Euo\,rcéim
; OrCesS On TNe Wood an
it must ’rhereforg have a greater o Bocks
mass than the iron.
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